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 BECC-107  

B.A. (HONOURS) ECONOMICS  

(BAECH) 

Term-End Examination 

June, 2022  

BECC-107 : STATISTICAL METHODS FOR 

ECONOMICS 

Time : 3 hours Maximum Marks : 100 

Note :  Answer questions from all the sections as per 

instructions.   

SECTION A 

Answer any two questions from this section.  220=40 

1. What is meant by non-probability sampling ? 

What are its various types ? Discuss how  

non-probability samples can be drawn.   

2. (a) What is normal distribution ? What are its 

characteristics ? 

(b) Explain the need for a standard normal 

distribution. 

3. Distinguish between the Ratio to Trend method 

and the Moving Average method for the 

measurement of seasonal variations. 

4. (a) What is meant by secondary data ? 

Enumerate the important sources of 

secondary data in India. 

(b) What precautions should we take while 

using secondary data ? 
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SECTION B 

Answer any four questions from this section. 412=48 

5. Explain the following concepts in the context of 

hypothesis testing : 

(a) Acceptance and Rejection regions 

(b) Null hypothesis and Alternative hypothesis 

6. Compute standard deviation from the following 

data : 

Class Interval Frequency 

4 – 5 4 

6 – 7 10 

8 – 9 20 

10 – 11 15 

12 – 13 8 

14 – 15 3 

7. Explain the concept of probability according to 

classical and axiomatic approaches. Describe 

the addition and multiplicative laws of 

probability. 

8. A bag contains 10 red and 5 white balls. We 

draw 3 balls at random. What is the probability 

that all the 3 balls are red ? 
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9. Describe the uses of a contingency table. What 

type of inferences can we draw from a 

contingency table ? 

10. Explain the concept of student’s ‘t’ distribution. 

When do we use it ? 

11. Briefly discuss various measures of central 

tendency. 
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SECTION C 

12. Write short notes of any two of the  

following :  26=12 

(a) Histogram 

(b) Sampling distribution 

(c) Cost of living index number 

(d) Degree of freedom 
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 ~r.B©.gr.gr.-107  

 ~r.E. (Am°Zg©) AW©emñÌ 
(~r.E.B©.gr.EM.) 

gÌm§V narjm 

OyZ, 2022 

 

~r.B©.gr.gr.-107 : AW©emñÌ H$s gm§p»`H$s` {d{Y`m±  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : {ZX}emZwgma g^r ^mJm| go àíZm| Ho$ CÎma Xr{OE & 

^mJ H$  

Bg ^mJ _| go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & 220=40 

1. µJ¡a-àm{`H$Vm à{VM`Z go Š`m A{^àm` h¡ ? BgHo$ {d{^Þ 
àH$ma Š`m h¢ ? MMm© H$s{OE {H$ µJ¡a-àm{`H$Vm à{VXe©  
(µJ¡a-àm{`H$Vm Z_yZo) H¡$go {bE OmVo h¢ & 

2. (H$) gm_mÝ` ~§Q>Z Š`m h¡ ? BgH$s Š`m {deofVmE± h¢ ? 

(I) g_PmBE {H$ _mZH$ gm_mÝ` ~§Q>Z H$s Amdí`H$Vm Š`m| 
h¡ & 

3. g_` ûm¥§Ibm _| _m¡g_r CƒmdMZ H$mo _mnZo Ho$ {bE 
CnZ{V go AZwnmV {d{Y Am¡a Mb _mÜ` {d{Y _| A§Va ñnï> 
H$s{OE &  

4. (H$) {ÛVr`H$ Am±H$‹S>m| go Š`m A{^àm` h¡ ? ^maV _| 
{ÛVr`H$ Am±H$‹S>m| Ho$ _hÎdnyU© òmoVm| H$mo ~VmBE & 

(I) {ÛVr`H$ Am±H$‹S>m| H$m à`moJ H$aVo g_` h_| Š`m 
gmdYm{Z`m± ~aVZr Mm{hE ? 
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^mJ I 

Bg ^mJ _| go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & 412=48 

5. n[aH$ënZm narjU Ho$ g§X^© _| {ZåZ{b{IV AdYmaUmAm| 
H$s ì`m»`m H$s{OE : 

(H$) ñdrH¥${V joÌ Am¡a AñdrH¥${V joÌ 

(I) {ZamH$aUr` n[aH$ënZm Am¡a d¡H$pënH$ n[aH$ënZm 

6. {ZåZ{b{IV Am±H$‹S>m| go _mZH$ {dMbZ H$s JUZm H$s{OE : 

dJ© A§Vamb Amd¥{Îm 

4 – 5 4 

6 – 7 10 

8 – 9 20 

10 – 11 15 

12 – 13 8 

14 – 15 3 

7. nma§n[aH$ (à{V{ð>V/Šbm{gH$b) Am¡a A{^J¥hrVr` Ñ{ï>H$moU 
Ho$ AZwgma àm{`H$Vm H$s AdYmaUm H$s ì`m»`m H$s{OE & 
àm{`H$Vm Ho$ `moJ {Z`_ VWm JwUZ {Z`_ H$m dU©Z  
H$s{OE & 

8. EH$ W¡bo _| 10 bmb Am¡a 5 g\o$X J|X| h¢ & h_ `mÑpÀN>H$ 
ê$n go 3 J|X| {ZH$mbVo h¢ & Š`m àm{`H$Vm h¡ {H$ VrZm| J|X| 
bmb h¢ ? 
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9. Amg§J gmaUr (H§${Q>ÝO|gr Q>o~b) Ho$ Cn`moJm| H$m dU©Z 

H$s{OE & Amg§J gmaUr go h_ {H$g àH$ma Ho$ {ZîH$f© 

{ZH$mb gH$Vo h¢ ? 

10. ñQy>S>|Q> ‘Q>r’ ~§Q>Z H$s AdYmaUm H$mo g_PmBE & BgH$m à`moJ 

H$~ {H$`m OmVm h¡ ? 

11. Ho$ÝÐr` àd¥{Îm Ho$ {d{^Þ _mnm| H$s g§jon _| MMm© H$s{OE & 
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^mJ J 

12. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±  

{b{IE : 26=12 

(H$) Am`V{MÌ 

(I) à{VXeu ~§Q>Z (Z_yZm {dVaU) 

(J) OrdZ-{Zdm©h ì`` gyMH$m§H$ 

(K) ñdmV§Í` H$mo{Q> 


